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1. Poisson
N. ~Po(da,)
2. Thomas (ThomasClustering Process)
N, =X, + X, +7 + X, ~ Tho(Aa,,¢),
Q : Numberof Patches ~ Po(1«,),
X ;—1:ExcessCount in Each Patch =~ Po(¢)
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Goodness of fit test of non-
homogenious Thomas Distribution



Non-homogenious count data

1. Poisson
N. ~ Po(de,)
2. Thomas (ThomasClustering Process)
N, =X, +X,+7+ X, ~Tho(1¢e,,¢),
Q : Numberof Patches ~ Po(4a,),
X ;—1:ExcessCount in Each Patch = Po(¢)

Bettter explain zero countsthan other distribution, like negativebinomial does
Po(Aa,) c Tho(la,,¢)



Goodness of fit test vs Model Selection

Model Section: Relative comparison of models
NO assurance of goodness of the model selected

Goodness of fit test of a model Jittered PP plot for disrete dist.

Y ~UF(X —1),F(X))
l passed Scatter Plot of {E,Y(m],k =1,2,..., n
n

Selection of a model from the submodels



Goodness of fit test of non-
homogenious Poisson

N.~Po(lea,), 1=1,2,...,k, a,,a,,....,a, :known
a4
NN, ...oN IN =M, (P, Py P N) p, = ZZO‘-’Z =1,2,...,
® Test of N =2 N, ~ Po(A)_ @)
® Conditional Testof N ,N,,....N, | N ~ M, p, py,...,p ;N
independ of A, not necessarily Z * 7 XPas k 7 X
therefore, X? test would notappropriate
Usually E(N) = © qs k — 0,
F(x) vs F(x)=x%x, 0<x<1 (o loLys
n A - — Fnkz piJ:ﬁZNi
i=1 i=1



Extension to Thomas distribution
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Extension to Stopped Poisson
distribution
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~~ Compound Poisson, Q ~ PO(ﬂZa ), X; = Po(g)



